# **Supply** Side® **Global**

**Oct. 27-30, 2025** Expo Hall: Oct. 29 & 30, 2025 Mandalay Bay, Las Vegas







# **Booth** Packages

Your turn key and hassle-free exhibition solution.

# **Booth packages**

# Package A



#### \$17,400

- 100 sq. ft. In-line booth space
- Back wall with custom graphics\*
- Welcome counter with custom graphic kick panel & locking doors\*
- (1) Madison table 30"W x 30"H
- (2) Padded chairs
- (1) Padded stool
- (1) Wastebasket & porter service
- Carpet (Pepper color)
- (2) Arm lights
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- Exhibit install and dismantle
- 4 exhibitor badges

# New Package B



#### \$20,600

- 100 sq. ft. In-line booth space
- Back wall structure with fabric graphic panel
- (1) Chrome shelving with 5
  stationary acrylic shelves
- (1) Padded stool
- (1) Wastebasket & porter service
- Welcome counter with graphics & locking doors\*
- Carpet (Pepper color)
- (3) Arm lights
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- · Exhibit install and dismantle
- 4 exhibitor badges

# New Package C



#### \$34,500

Your Graphics Here

- 200 sq. ft. In-line booth space
- Back wall structure with fabric graphic panels
- (1) White frame shelving with 4 stationary shelves
- (4) Padded chairs
- (1) Padded Stool
- (2) Madison table 30"W x 30"H
- (1) Wastebasket & porter service
- Welcome counter with graphics & locking doors\*
- Carpet (Pepper color)
- (5) Arm lights
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- · Exhibit install and dismantle
- 8 exhibitor badges

Corner locations will have an added corner fee. Any additional orders that are not included in the booth package are at the expense of the exhibitor. All nongraphic panels will be white in color. Exhibitor must obtain general liability insurance at own expense.

\*Client to provide print-ready graphics

# **Booth packages**

# Package E



#### \$66,200

- 20' x 20' (400 sq. ft.) island space
- Back wall with custom graphics\* (double-sided)
- Welcome counter with graphics & locking doors\*
- (2) Display cases
- (1) Munich loveseat
- (2) Munich chairs
- (2) Marche ottomans
- (2) Madison table 30"W x 30"H
- (4) Padded chairs
- (1) Padded stool
- (1) Wastebasket & porter service
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- Exhibit install and dismantle
- 16 exhibitor badges

Package E Industrial



#### \$71,000

- 20' x 20' (400 sq. ft.) island space
- Back wall with custom graphics\* (double-sided)
- Welcome counter with graphics & locking doors\*
- (2) Display cases
- (1) Montreal loveseat
- (2) Wentworth swivel chairs
- (1) GEO coffee table with glass top
- (2) Timber tables
- (2) Wood cafe table, black base wood top 30"W x 29"H
- (4) Rustique chairs with arms
- (1) Rustique barstool
- (1) Wastebasket & porter service
- (3) Table top floral
- (1) 4' floor plant
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- · Pre-show booth vacuuming
- · Exhibit install and dismantle
- 16 exhibitor badges

# Package E Contemporary



## \$70,500

- 20' x 20' (400 sq. ft.) island space
- Back wall with custom graphics\* (double-sided)
- Welcome counter with graphics & locking doors\*
- (2) Display cases
- (1) Fairfax sofa
- (1) Fairfax arm chair
- (1) Timber table
- (2) Marche ottoman- gray
- (1) Alondra coffee table
- (2) Café tables w/ hydraulic base 30"W x 29"H
- (4) Zenith chairs
- (1) Zenith stool
- (1) Wastebasket & porter service
- (3) Table top floral
- (1) 4' floor plant
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- Exhibit install and dismantle
- 16 exhibitor badges

Corner locations will have an added corner fee. Any additional orders that are not included in the booth package are at the expense of the exhibitor. All nongraphic panels will be white in color. Exhibitor must obtain general liability insurance at own expense.

\*Client to provide print-ready graphics

# **Booth packages**

# Package F



#### \$60,300

- 20' x 20' (400 sq. ft.) island space
- Tower with custom graphics
  with counters \*
- Welcome counter with graphics & locking doors\*
- (1) Display case
- (4) Madison table 30"W x 30"H
- (8) Padded chairs
- (1) Padded stool
- (1) Wastebasket & porter service
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- Exhibit install and dismantle
- 16 exhibitor badges

# Package F



#### \$65,000

- 20' x 20' (400 sq. ft.) island space
- Tower with custom graphics
  with counters\*
- Welcome counter with graphics & locking doors\*
- (1) Display case
- (4) Wood cafe table, black base wood top 30"W x 29"H
- (8) Rustique arm chairs
- (1) Rustique barstool
- (1) Wastebasket & porter service
- (4) Table top floral
- (1) 4' floor plant
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- · Pre-show booth vacuuming
- · Exhibit install and dismantle
- 16 exhibitor badges

#### \$66,300

 20' x 20' (400 sq. ft.) island space

Package F

Contemporary

- Tower with custom graphics with counters\*
- Welcome counter with graphics & locking doors\*
- (1) Display case
- (4) Café tables w/ hydraulic base 30"W x 29"H
- (8) Zenith chairs
- (1) Zenith stool
- (1) Wastebasket & porter service
- (4) Table top floral
- (1) 4' floor plant
- Carpet (7 color choices)
- Electricity at arm lights, counter and (1) surge protector
- Pre-show booth vacuuming
- · Exhibit install and dismantle
- 16 exhibitor badges

Corner locations will have an added corner fee. Any additional orders that are not included in the booth package are at the expense of the exhibitor. All nongraphic panels will be white in color. Exhibitor must obtain general liability insurance at own expense.

\*Client to provide print-ready graphics

# **Expo Hall schedule**

## **Exhibitor move-in**

Oct. 26 Level 1: 8am - 5pm (Targeted exhibitors)

Oct. 27 Level 1 & 2: 8am - 5pm (Targeted exhibitors)

Oct. 28 Level 1 & 2: 8am - 9pm

**Oct. 29** Level 1: 7 - 9:30am Level 2: 7 - 8:30am

#### **Event hours**

Oct. 29 Level 1: 10am - 5:30pm Level 2: 9am - 5:30pm

Oct. 30 Level 1: 10am - 5pm Level 2: 9am - 3pm

### **Exhibitor move-out**

**Oct. 30** Level 1: 5 - 11pm Level 2: 3pm - 12am

Oct. 31 Level 1: 7 - 10am

Hours subject to change.

### **Booth fees**

- Linear booth: \$96.00 per sq. ft.
- Island booth: \$99.50 per sq. ft.
- Corner premium: \$1,500 each

General liability insurance – Exhibitor must obtain general liability insurance at own expense.

For international customers only:

General liability insurance: \$185 flat fee

# **Booth fees include:**

- Booth space
- Draped back wall and 3' draped side rails (Linear booth only)
- Company listing on the show website and mobile app
- Four exhibitor badges per 100 sq. ft.

#### Contact

To reserve your booth or inquire about sponsorship opportunities, contact your account manager or:



Anthony Arteca Senior Sales Manager, SupplySide Anthony.Arteca@informa.com.

Increase your brand's visibility with the right sponsorship opportunities!

We offer a range of tailored digital and in-person solutions to enhance your visibility and maximize your impact at the show. <u>View sponsorship opportunities!</u>